§ 2. HMERSHE
LI, HoifEatRe =y,

THRE B R AR R
B B R AR R

TR R AR R

PR B B FE £
fighed - X HBEEFHER

IV N AEERG

g oD > & RV M ARI SRR
RALTHFE SRR
O OF R
PRRBIR R TR R






IBEERREME

G| * 5 —————{mzg| BER | an
BB | ]
£HEXR ’ Haaat
HE% i Y 252
KEIF :
& _"; i HEEE 1 | kg 170646 170646
| 2 | pmuag e [PAE 7 2397 - - : 2397
& | 5 HMEEE #2 | ke 47483 - - 617 7732] 55832
g e %5 | 4 g3l | ' 83
i | wt |NTHE *3 | ke 4372 4372
ENE|, .., [|BELSREE 6]~ 36] 36
" i TS T - ,  .
= [ MIAE *4 | kg 10360 10360
§ # |aparag ﬁ?ﬁlﬂ#ﬁ::ﬁ 8 | a4 44
o HiRigE 9| 56| , .
z FF*2+43++4 B | ke 232861 - - 617 7732 241210
1+ WIMH M5TOM ML MIMTHE | ke - - - - - -
’E IETE *5+%6+%T+%8+%9 | & 2100 219
R AEER m - B _
KEM THEIER m 2249 2249
EHEEE mm 37667
BEEHR F R mm 2600
ER ] mm 1900| (1600~ 1900)
TEMERETE R B
HEHBE s MISAE ke) ERH R R ERFHEK
iR EX 43
- e WA 40
B — HHHEHE 36
—_— S T 100
i — aEt 219
K= 6900
RE TERI 832
& B 7732




HERERSKHE

HI X fr [ B #r | JEE | THEE  FHEE  EHEEK THIEK ESRE[THRE] FED
A B MG_ FB_ SW_ LL N E D LD UK LK MNOF A F
KM A3 @ 132 120 252 252
KB R E® kg 155,477 15,169 170, 646 170, 646
AN g B 1488 909 2397 2397
INEIRFRE R kg 31,095 16, 388 47, 483 599 18 617 48,100
MLE & kg| 186,572 31,557 4,372 10,360 232,861 599 18 6, 900 832 8,349| 241,210
N 570K $f'E & kg
WAL BEIER m
P Ak PR R | m 1, 926 323 2, 249 2, 249
WO & @ 43 40 83 83
BIEH N 7 AHEE | #E 36 44 80 80
MR~ T A | @ 56 56 56
EEHEM R A 43 40 36 100 219 219




= -
MM EERHE [kel
] F M | B AT | AR | e | s | EebPEK | FebbEK| EERE | TebRa | e ~
®E sF ok MG, FB SW LL A D LD UK LK A F | A FF
PL | SMA490CW-H 48 2,372 2,372 2,372
44 2,174 2,174 2,174
A F 4,546 4,546 4, 546
SMA490CW 65 345 345 345
60 636 636 636
45 1,184 1,184 1,184
NF 2,165 2, 165 2, 165
SMA490BW 40 316 316 316
38 1,878 1,878 1,878
36 3,497 3,497 3,497
35 110 110 110
33 1,576 1,576 1,576
32 204 204 204
29 1,393 1,393 1,393
28 5,710) 1,967 7,677 7,677
26 2, 490 2, 490 2, 490
25 2,775 2,775 2,775
24 13,991 13,991 13,991
23 3,503 3,503 3,503
22 5, 454 5, 454 5, 454
21 7,697 7,697 7,697
20 2, 439 2, 439 2, 439
19 8,121 8,121 8,121
18 3,439 9,964 13,403 13, 403
17 2,434 2,434 2, 434
AN 67,027| 11,931 78, 958 78, 958
SMA490AW 16 13,110 13,110 13,110
15 254 254 254
14 214 214 214
13 580 580 580
12 285 285 285
11 469 469 469
10 68, 065 10 68, 075 68, 075
9 3,972 5,318 9, 290 9, 290
N 86,949 5,328 92, 277 92, 277
SMA400BW 28 526 960 1,486 1, 486
27 144 144 144
26 32 32 32
A F 526| 1,136 1, 662 1, 662
SMA400AW 25 64 64 64
24 20 20 20
22 38 38 38
20 952 952 952
19 8,390 3,602 360| 12,352 12, 352
18 15 105 71 191 191
16 2,406 1,684 4,090 4,090
15 940 940 940
14 440 440 440
13 8 480 488 488
12 39 154 5,751 5,944 5,944
11 1,248 1,248 1,248
10 7,525 835 460| 8,820 8, 820
9 4,870 3,916 648| 1,146 10,580 10, 580
8 35 35 671 671 706
6 63 342 405 84 84 489
AN F 25,301| 12,870 648| 7,788| 46,607 84 671 755| 47, 362
SPA-H 4.5 31 271 302 302
3.2 27 27 27
A F 58 271 329 329
SM400A 16 39 39 39
12 644 60 704 704
9 102 20 122 122
8 48 48 48
6 79 2 81 81
A& 79 796 119 994 994
SS400 3.2 329 26 355 355
# M Ft 186,572| 31,536 648|  7,788| 226,544 163 1,796 145 2,104| 228,648
H |SS400 175x175x 7.5 93 93 93
CH|SS400 100x 50x 5 1,456 198) 1,654 1,654
CTSMA400AW | 118x176x 8 2,572 2,572 2,572
95x152x 8 2,304 2,304 2,304
N 2,304 2,572 4,876 4,876
L |SMA400AW 90x 90x 10 1,420 1,420 1,420
$5400 75% 75x 6 153 10 163 163
65% 65x 6 946 90| 1,036 1,036
50x 50x 6 227 24 251 251
N F 1,420 1,420 1,326 124 1,450 2,870
ST | STKR400 100x 50x 3.2 26 26 26
P [STK400 42.7x 2.3 354 24 378 378
21.7x 1.9 281 20 301 301
AN E 635 44 679 679
FB|SS400 100 x 6 326 18 344 344
90 x 9 341 42 383 383
90 x 6 5 12 17 17
5 x 6 33 33 33
50 x 4.5 24 24 24
A & 383 18 346 54 801 801
RB|S5400 22¢ 19 4 23 23
16 ¢ 21 21 21
6.6 27 27 27
AN FE 21 21 27 19 4 50 71
CP[SS40077 11 3.2 1,322 170]  1,492] 1,492
BN | SS400 M16 101 9 110 110
M12 150 3 153 153
M10 79 10 89 89
A Et 150 3 180 19 352 352
BT |S$400: STUD M22 13 13 13
$S400 M22 52 52 52
gt 65 65 65
NT [SS400:LONG 2 31 31 31
UB|$S400 BEOR 32054 19 4 23 23
RO 15CH! 32 4 36 36
NS 51 8 59 59
SD|SS400 22 ¢ 3,296 315 3,611 3,611
TC|S10TW M22 3,429| 3,376 216 537| 7,558 7,558
AN|S5400 M16 5 11 16 16
MI12 3 3 3
N 3 5 11 19 19
w & &t 193,297| 35,344 4,588 10,897| 244,126 749 24| 7,136 870] 8,779| 252,905




kel

* M B M [ xHERE | TR | EE | ERPEK] TEREEK ERRE] THRE] TED B

ME ~ MG_ FB_ SW_ LL A EE D LD UK LK N A OE
PL|SMA490CW-H| 38<t=100 4,546 4,546 4, 546
SMA490CW 50< t=100 981 981 981
38<t= 50 1,184 1,184 1,184

N 2, 165 2,165 2,165

SMA490BW 38<t= 50 316 316 316
25<t< 38 | 16,858 1,967 18, 825 18, 825

6<t< 25 | 49,853 9,964 59, 817 59, 817

A EF 67,027 11,931 78, 958 78, 958

SMA490AW 6<t= 50 | 86,949 5,328 92, 277 92, 277
SMA400BW 25<t= 38 526 1,136 1,662 1,662
SMA400AW 6<t= 38 | 25,238 12,528 648 7,788 46,202 671 671| 46,873
t< 6 63 342 405 84 84 489

N F 25,301 12,870 648 7,788 46,607 84 671 755| 47,362

SPA-H t= 38 58 271 329 329
SM400A t< 38 79 796 119 994 994
$5400 3=t< 6 329 26 355 355
W R AN = 186,572 31,536 648 7,788 226,544 163 1,796 145 2,104 228,648

H |S5400 175x175x 7.5 93 93 93
CH|SS400 100x 50x 5 1, 456 198 1,654 1,654
CT|SMA400AW | 118x176x 8 2,572 2,572 2,572
95x152x 8 2, 304 2,304 2, 304

AN 2,304 2,572 4,876 4,876

L | SMA400AW 90x 90x 10 1, 420 1,420 1, 420
S5400 75x 75x 6 153 10 163 163
65x 65x 6 946 90| 1,036 1,036

50x 50x 6 227 24 251 251

N F 1,420 1,420 1,326 124 1,450 2,870

ST| STKR400 100x 50x 3.2 26 26 26
P |STK400 42.7x 2.3 354 24 378 378
21.7x 1.9 281 20 301 301
A F 635 44 679 679
FB|S5400 100 x 6 326 18 344 344
90 x 9 341 42 383 383
90 x 6 5 12 17 17
50 x 6 33 33 33
50 x 4.5 24 24 24

A FF 383 18 346 54 801 801
RB | S5400 22¢ 19 4 23 23
16 ¢ 21 21 21
6¢ 27 27 27

A F 21 21 27 19 4 50 71
CP| 540079 M 3.2 1,322 170] 1,492 1,492
BN | $5400 M16 101 9 110 110
M12 150 3 153 153
M10 79 10 89 89
A F 150 3 180 19 352 352
BT | SS400:STUD M22 13 13 13
$S400 M22 52 52 52
AN 65 65 65

NT | SS400: LONG M22 31 31 3
UB | $5400 FEOY 32CHY 19 4 23 23
MEOY 15CH! 32 4 36 36
i 51 8 59 59

SD| $S400 22 ¢ 3, 296 315 3,611 3,611
TC|S10TW M22 3,429 3,376 216 537 17,558 7,558
AN|S5400 M16 5 11 16 16
M12 3 3 3
A 3 5 11 19 19
i& & it 193,297 35,344 4,588 10,897 244,126 749 24| 7,136 870  8,779| 252,905




FiO - =HERIR

kel
EEHEAK THHAK ESRE THEBRE] FED

Izt ~FiE UuD LD UK LK INF & F
PL SM400A 16 39 39 39
12 644 60 704 704
9 102 20 122 122
8 48 48 48
6 79 2 81 81
AN E 79 796 119 994 994
M M N Ft 79 796 119 994 994
H SS400 175x175x 7.5 93 93 93
CH SS400 100x 50x 5 1, 456 198 1, 654 1, 654
L SS400 75x 75x 6 153 10 163 163
65x 65x 6 946 90 1,036 1,036
50x 50x 6 227 24 251 251
NOEF 1,326 124 1, 450 1, 450
FB SS400 100 x 6 326 18 344 344
90 x 9 341 42 383 383
90 x 6 5 12 17 17
50 x 6 33 33 33
AN E 359 18 346 54 777 777
RB SS400 22 ¢ 19 4 23 23
[HDZ55] & &t 438 18 3,943 592 4,991 4,991
PL 'SS400 | 3.2 329 26 355 355
£ I ] N 329 26 355 355
ST |STKR400 100x 50x 3.2 26 26 26
FB SS400 50 x 4.5 24 24 24
CP SS400Y9 Y 3.2 1,322 170 1,492 1,492
[UDZz45] & at 50 1,651 196 1, 897 1, 897
P STK400 42.7x 2.3 354 24 378 378
21.7x 1.9 281 20 301 301
NFE 635 44 679 679
BN 'SS400 M16 101 9 110 110
M12 150 3 153 153
M10 79 10 89 89
N 150 3 180 19 352 352
UB 'SS400 v 32C7H 19 4 23 23
FE N 15CHY 32 4 36 36
AN EF 51 8 59 59
AN 'SS400 M16 5 11 16 16
M12 3 3 3
N F 3 5 11 19 19
[HDZ35] & at 150 6 871 82 1,109 1,109
o & &t 638 24 6, 465 870 7,997 7,997




EEHEAK THHAK ESRE THEBRE] FED

Izt ~FiE UuD LD UK LK INF & F
PL SM400A t< 38 79 796 119 994 994
o R N B 79 796 119 994 994
H SS400 175x175x 7.5 93 93 93
CH 'SS400 100x 50x 5 1, 456 198 1, 654 1,654
L SS400 75x 75x 6 153 10 163 163
65x 65x 6 946 90 1,036 1,036
50x 50x 6 227 24 251 251
N 1,326 124 1, 450 1, 450
FB 'SS400 100 x 6 326 18 344 344
90 x 9 341 42 383 383
90 x 6 5 12 17 17
50 x 6 33 33 33
AN E 359 18 346 54 777 777
RB SS400 22 ¢ 19 4 23 23
[UDZ55] & &t 438 18 3,943 592 4,991 4,991
PL §S400 - 3=t< 6 329 26 355 355
£ R N 329 26 355 355
ST |STKR400 100x 50x 3.2 26 26 26
FB 'SS400 50 x 4.5 24 24 24
CP SS400Y7 Yy 3.2 1,322 170 1,492 1,492
[HDZ45] & B 50 1,651 196 1, 897 1,897
P [STK400 42.7x 2.3 354 24 378 378
21.7x 1.9 281 20 301 301
NF 635 44 679 679
BN 'SS400 M16 101 9 110 110
M12 150 3 153 153
M10 79 10 89 89
N E 150 3 180 19 352 352
UB 'SS400 e X 32CHY 19 4 23 23
e Y 15CHY 32 4 36 36
N F 51 8 59 59
AN 'SS400 M16 5 11 16 16
M12 3 3 3
NFE 3 5 11 19 19
[upz35] & & 150 6 871 82 1,109 1,109
i = it 638 24 6, 465 870 7,997 7,997




[kg]

HDZ55 4,991
HDZ45 1,897
TRELIAL 679
HDZ35 RIVNE 430
ait 1,109
O 7,997

[HDZ35]
BN 352
UB 59
AN 19
ARt 430




RIL FEBERIR

(FRHEAL)
[TCI[BN][BTJ[NT][UB][SD][AN] L& %%,
(Fy VESAOHEE) [ INO4XF O

1>

H : 7y brofEE [1~4] 1~4F [D]

[x] XHECY £F 2720,
AT 1+38 [U] A IE D,

228 @ FEEOKK [1~2) ., 328 : FhES [sS] .
4o H © F— =4 [5] 5 AR [8] 8 AR,
] E M| B M7 | XHERE | TERE | RS | EEPK] TR EBRE THERE FED B
Mg st i MG_ FB_ SW_ LL A FE D LD UK LK NEH A OE

TC|S10TW M22x115 84 84 84
M22x110 108 108 108
M22x105 72 72 72
M22x100 160 160 160
M22x95 300 300 300
M22x90 488 488 488
M22x85 156 936 1,092 1,092
M22x80 564 384 948 948
M22x75 600 3,998 200 4,618 4,618
M22x70 24 24 24
M22x65 3, 864 938 432 168 5,402 5, 402
M22x60 408 408 408
M22x55 452 452 452
A FF 6,396 6,256 432 1,072 14,156 14, 156
mARL NEEE 6, 396 6, 256 432 1,072 14,156 14, 156
BN|S5400 M16x50 [U2xx] 56 12 68 68
M16x45 [U2xx] 524 48 572 572
M16x40 [U2xx ] 11 11 11
M12x55[U2xx] 30 30 30
M12x50 [U2xx] 82 82 82
M12x45[U2xx] 48 48 48
M12x40[U2xx] 382 12 394 394
M10x35 [U2xx] 512 48 560 560
M10x30[U1x5] 876 108 984 984
AN FF 542 12 1,979 216 2,749 2,749
BT |SS400:STUD|  M22x35 140 140 140
$5400 M22x100 140 140 140
A EF 280 280 280
NT | SS400: LONG | M22x50[1xxx] 140 140 140
UB | S5400 BEON 3207 128 12 140 140
FEON 15CHY 256 24 280 280
A 384 36 420 420
SD| 5400 22 ¢ x150 6, 508 616 7,124 7,124
AN|S5400 M16x125 [Ulxx] 13 28 41 41
M12x125[Ulxx] 12 12 12
A F 12 13 28 53 53




R o EFARIL FARBFRER

EEBEK TEHBEK LEHBRE THBRE FRBD

7 ~FiE UuD LD UK LK N F & F
BN [SS400 M16x50[U2xx] 56 12 68 68
M16x45[U2xx] 524 48 572 572
M16x40[U2xx] 11 11 11
M12x55[U2xx] 30 30 30
M12x50[U2xx] 82 82 82
M12x45[U2xx] 48 48 48
M12x40[U2xx] 382 12 394 394
M10x35[U2xx] 512 48 560 560
M10x30[Ulx5] 876 108 984 984
NFE 542 12 1,979 216 2,749 2,749
UB SS400 FE Y 32CHY 128 12 140 140
FEOY 15CHY 256 24 280 280
AN E 384 36 420 420
AN SS400 |M16x125[Ulxx] 13 28 41 41
M12x125[Ulxx] 12 12 12
N 12 13 28 53 53
[HDZ35 & &t 542 24 2,376 280 3,222 3,222




ZEEMEKIR

_ HILX Sy B | A m2)
K L N (O Lo A-D 1077. 41
i G L (m ok vhem %97 (D 46. 66
- @f*j{é T B (i DT VA T) DG 6270
Y Ime i mHY )V yIN AV [T C 348. 39
IV T T T B G o7 T 1106
A O — 5B MR )y FN Avh T K 384. 41
AL AL T
51 2 e it sl | difE (m2)
St i A 1124. 07
— s i B
Frik C 348. 39
St i D 46. 66
HRE P I E
ik F
St i G 16. 04
AN Wi H
Frik I 11.06
BRI J 4474, 11
P fil A K 384. 41
Db 710 L




AL R T 1] AN JEAS B | g m2)
EES THBET | a7 7 A J 4474, 11
RIALEE |BLE, 7 5 A R
T ﬂ*ﬂ%//ﬁ )é%f\j’%/% 751 m
e WAba-b | AR G AR T _
Cc-5 THgET R ET £, “2@ = A-D 1077. 41
HRvR $Oﬁﬁﬁ@%%$i
IS ii > g EEHH Fis
s apdlE |75 A
THERL Py TRE Y 7V F T U F Tan D 46. 66
AITLER (8 ) T H e
F-11 A= B = R 3 B IE R
BG@ET | e R R X R EE D+6G 62. 70
HiE | SoEZEESEHY SR
RS goﬂa ol flg ek Eos
By i ALR 7 7 Ak
)b | TEEEL Ty (mEoL 7 S F A U F 300w c 348. 39
Befih o g FijULER |8 ) T 2 ALEE
- BlGesdt 1T S g&%/\/&\) SFTTT I 11.06
EE ik HALEE [RIEL 75 X R
pam | POEEL Ty (RO 7V T AU T Than K 384. 41
] I S A | R (m2)
ATLER |57 7 A b 7 4474. 11
FifdLER [FL 7 Z Ak A+C+K 1856. 87
Ty [ 7 ) v F Ak 75unm A+K 1508. 48
g D& WEFE>~ 70 T~ T 30um C 348. 39
G Uit [= R x CRIEEE F &
Ty =R BESE TS _
TR 5o BRI P T AD 1077. 41
& | SoFMEEEH BB
AIALER [#) ) T HALER DG+ 73.76
T |G 70 vTF~A ok I 11. 06
B e IAba-b [ZEVE AR X RIS Sk
BT [ T BIR AR - 62 70
hi |5 - ZHRS e s :
x| SoFEIEEEH Eis




FOOBERIHR

BENTaLy7Y—+T

T H S IR RER HALl Boe
B D13 (SD345) kg 710
P m2 69. 11
IR o ck=24N/mm2 m3 29.73
AR T
HH Bt -~k ALl FE
D22 (SD345) kg 5756
D19 (SD345) 1 54430
7SIl D16 (SD345) ] 23991
D13 (SD345) ] 2870
otk [ 87047
e m2 1207. 05
2/77) -} o ck=24N,/mm2 m3 333.25
- R1H [ 11
It F 4t ARELE AR (RIED 11 11
Y—VET m3 0. 02
e A m2 | 1176.49
X T AT 7 MRS SE DR A R TG i LI CRE R
WL
HH FRS - ~HE ALl HE
Al BRI —h 18-8-40BB m3 29. 80
LA F ) (R EAs) (t=40mm) m2 745. 79
TAT 7 Mg (t=80mm) g (R EAs) (t=40mm) ) 745. 79
A8 il (6=40mm) I 271. 14
ERERN V=% m2 745. 79
ERIUZYNE FIRERT T ) 271. 14
B H HikE 40x5mm Toy-VSSIA S dn LA m 475. 48
18 ¢ FEWTE RN (7 m 221.70
RN A7 (AR7° 0/ Ayva BRIBREKN (7 [ 18.21
BTN &5t 7 239. 91
FRAAR: A T
HH JAS - T ALl B
kA D13 (SD345) kg 178
i m2 6. 44
vy =h o ck=24N/mm2 m3 1.16
25 ¢ (SS400) kg 30
TUH=E Wb 13 ¢ (S5400) ] 16
et [ 46
BEL
TH H JRS -~k HAL | A et [ RRGE [ ALGE) [A1OR) [ A20K)
D16 (SD345) kg 121 28 17 25 51
8L D13 (SD345) I 103 16 12 22 53
= Ek I 224 44 29 47 104
TP m2 | 10.76 2.16 1.84 2. 40 1. 36
e 24-12-25BB m3 1.27 0. 24 0.20 0.27 0.56




LR THEKIEE T

HH JRS STk Hifi =
tH 7
| —7—
AR ND-7-F e R
HH 8
Pkt R FRP e 1053
osf . 15
i kg 742.7
293mm FH 1
292mm ) 1
S Y = 275mm ) 7
210mm ! 17
O I 27
VP—200A m 73.78
VP-50A 1) 33. 83
’/g@
PEAKE IR 23T [ 107. 61
VY7 VFa=7" [20 ¢ (SUS304) I 2.70
FRP ¢} 74 m2 2. 27
. VP—200A 1~3,5,6 S 12
l—‘@ ) )
HH VP—50A 1 I 6
VP—200A T3, T15 ES 2
VP—200A+50A T2, T6, 18, T9, T11 I 10
VP—200A+200A T7 1) 1
’/gq
MLE VP—200A+200A+50A T1 I [
VP-50A T4, T5, T12 1) 9
VP—50A+50A T10, T13, T14 I 6
. VP—200A & 13
1] —
A7 L VP—50A y 1
(A VP-200A/H [J ES 2




(R E T

THH AL - ~HE HifL S
I L FRBGTE TR A 7 |[WF300 452.6k g 1.8m m 28. 037
Mtz i 1k K LR &P 5
17K ALER Uy NTE LAAT [E 3
TaA R = 5% 25A%300 S 3
JER /XA 7 25A X5000 U 3
=TI R—ANV R set 3
F A AH 3kg/m?2 kg 35.7
CRARLY WF300 m 22.7
LK AL 888 x 450 x 3t (HIFEER) Set 1
(72 - A ED) PR T L 493 x 450 x 3t (HLFE ) " 1
(SUS304) 621 x 450 x 3t (A ) I 1
570 x 450 x 3t (HIFEER) I 1
688 x 456 x 3t (HIFEER) I 1
oy 7 J— K7 h— M8 (SUS304) S 15
—F K )y by 16.5
NYT L 7 A—MNO. 32) m 3.5
TR Bk D16 (SD345) Kg 661
BETbar 7 ) — b o ck=24N/mm2 L _F m3 6. 68
SR IR KA 13, MRS N OVR HE B LT 1 0D 8 T AR,
o s 1V Ll
THH JRKG Tk HLAL fre e,
ok ARG EM., CRE, 7L I & H=750mm m 106. 4
L~ m 102. 3
5% m 4.1
14 B VBN T & T 4
T Ry v 7 & T 1
a5 B REM B L= R7 L — b t5mm & 1
v R AR BT B s, CRE, 771 < 8, H=1000mm m 124.5
L~ H m 108. 7
5% m 15.9
A VAR N T [E0 2
EEbm L= K7 L— b t5mm & AT 2
gtk T
TE B FAS - ~HE BT &
44 B 250X 600X 13, 7§ # 4
& AR 200X 300X 13, M J5e 1

XKIBAM, MR A XX, R T L2XFHEICLD . LRIV THE (£F) +52 &,




MERRIHESRE

Bk - AR BT ok e
SPE IR G R ERA T t 179. 62
MR 550tCR t 118.96 o
360tCR t 60. 65 Z
PR IR G R HRA T t 240. 59
IR & 550tCR t 151. 84 B
360tCR t 88.75 7
PR IR G A T t 186. 57
DR FHTE A 550tCR t 118.96 B
360tCR t 67.61 Z
PR EFE G R ERA T [i1] 15
FAHTALRR L 550tCR 8 o
360tCR 7 I
A AR M A LT T ARV B M22 VN 14, 156
AR Y75 7 A0 K W=327. 9kg/f8 [ 3% 4 [SEEE2nLl b
PURGHA 072 7 N0 = A3 W=803. 6kg/{Hl | % 4 I
. P2REIAN 075 7 N0 = 53K W=801. 1kg/flil | J& 4 "
= S R ABE YT T VAN I AR W=402. 8ke/fH | AL 4 V¥R 2mA
AABE N0 AR W=236. Okg/{# % 3 "
it % 19
AR AR MEV A £ L & L i 1.46
SRR 1 RA TRy, MERREL SmPl b m” 1184
o B3t e T BRPTEL il —
TG v— NRRGE L m” —
B MG L (P1)H=3. Tm 50 1
B L 22X 1524 X 3048mm ie 20 | 10Mzx2
) 1R SR, M BRESNT A N & M (BRI - e Z & ) OB TH Y | B R O OB sl 3br <,

2. iR &I

5. VGRS IR 2E I, PCERR & 7213 — 7 iz & » Tl

6. AR LT, BAGHEE L 2 L ETH D,
7. PR R D
BERHT 5,

B RR A~ = 2 7 L (5 ) 2B
FOARIR L [FERICEER T 2 B O T E B O AR 2> Bk
THEEAD) OMTIAM R 2 BB L2 b O &35, 72,
[ AR Bt~ = = TV (R) |
¥, BRI OWE XK O RIUE Fr B OVINEL | OB s DAt & & e,

i, SRR O ER AR S T, AR 2 AT o 7o Y& O MR RO T HH 52 OO R & R

CRBWT, SRS MELRGAIINERENT S, £z,

L P R

ZSER

GRSy )

HREBG I ThH D,

Z O DIRER

5 TEHGE SRR OMTMME
NIl

PRISAT O 5 & VK D A4 B B 2 N2
CCEMTO RIS i R OVINRIEA Frl

R, B

AR ORIE

B K O A (F7{

LAV S T2 ORE

Al

Tl UCHr S i %




MERRIHESRE

Bk - AR BT ok e
SPE IR G R ERA T t 179. 62
MR 550tCR t 118.96 o
360tCR t 60. 65 Z
PR IR G R HRA T t 240. 59
IR & 550tCR t 151. 84 B
360tCR t 88.75 7
PR IR G A T t 186. 57
DR FAHTE 550tCR t 118.96 B
360tCR t 67.61 Z
PR EFE G R ERA T 15
FAHMTEERR [B1% 550tCR 8 N3
360tCR 7 I
A AR M A LT T ARV B M22 VN 14, 156
AR Y75 7 A0 K W=327. 9kg/f8 [ 3% 4 [SEEE2nLl b
PURGHA 072 7 N0 = A3 W=803. 6kg/{Hl | % 4 I
) P2AERA 6072 7 N0 = A3 W=801. lkg/{# | % 4 I
. AR EEL -
=N AFBE ST 7 ND KA W=402. 8kg/fH | K& 4 SR E2mA
AABE N0 AR W=236. Okg/{# % 3 "
it % 19
AR AR MEV A £ L & L i 1.46
SRR 1 RA TRy, MERREL SmPl b m” 1184
MRS 1. m’ —
B Bk fis 1 v— MRBG# T m’ —
{RR% T - :
T ML m” 963
B MG L (P1)H=3. Tm 50 1
B L 22X 1524 X 3048mm K 20 | 10#zx2
) 1 HGRHE SR, M BRENT 2 & M (BRI - e Z & ) OB ThH Y | B R O@ii s OB sl 3R <,

2

7

AEARE L, THRERERERE Y = 2 TV (R) ) 1SR S TTRGEERER) ONTMME AT Rk

R OKAR & RIERICEE RS DA B O LEM E RO BTN 2 SHREEOE B AR E | MELEE & O AR it
TEMD) OM LTI EREZHEE L2 b D &35, ds, SRR OS5 3B O Sk E 2 k4 5,

CEMTE S, TERARECRAE R~ = 2 7V (50 | IS TEMT ORI R OVINEM R ST % ik O E

==X
BTHD, 7l WRRUTO S MR O KM R X OV N B OBE & O & F & &,

CEMTARRR ISR, SRR OAE R A S e, pde. IR AT o 7o 56 00 EMTARER IR T M £ oD S A H & ZR R IR

9%,

L VRRGBA LSS T, PCHIME £ 7213 — T T K - Tl S D GRS IR Th 5,
CERATRRE &3, BNV 2 LVETH D,
EBRRGRARCR N TL SEEE S LR AIRRE T 5, F, TOMORRRGIEE, BEIDE U T ER R A

BT 5.




